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Consider the following code. the printed value will be converted into:
int n=10;
cout<<oct<<n:
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int m=10;
cout<=<oct=<n;

OO

seee

Avy

SOOI




,,~' ’00000000000000000000000000000000000000000000000000000000000000000000000 .

. . g A 3 g . e !

=

-

~

4

0

“

=

-

00000606009@9960060@009

2

208 :
=2 0a
= et i

=

0

“

-

-

-

<

S foa

-

069@00QQ§0§60§§0000§§0060§50009§60060§90000Q60960§§00

o000999960060600909600060

000000000000000000000000000000000000000000000000000000000000000000000000



.,J ’0000000000000000000000000000000000000000000000000000000000000000000000.

:

0

“

-

-

00000606009@90600606009

Select the comrect option
delete string :

delete [Jstring :

seee

-

delete string]]

2

0

“

=

-

3

Avy

o

Se

-

o000999060060§009§9600060'

0000000000000000000000000000000000000000000000000000000000000000000000

S fRT

o

q06Qbé}@Q&..é.b@..b.@}..&.,f,d‘,5609600900§0Q600606§oq




.,J ’0000000000000000000000000000000000000000000000000000000000000000000000.

Q!llz Slart Tme 11 22 AM 25 August 202[] ..

Total Marks: 1

:

0

“

-

-

00000606009@90600606009

Select the correct option

seee

-

2

0

“

=

-

3

Avy

o

Se

-

o000999060060§009§9600060'

0000000000000000000000000000000000000000000000000000000000000000000000

S fRT

o

q06Qbé}@Q&..é.b@..b.@}..&.,f,d‘,5609600900§0Q600606§oq




.,J ’0000000000000000000000000000000000000000000000000000000000000000000000.

-

~

:
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Consider the following code. the printed value will be converted into:
int n=10;
cout<<oct<<n;
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